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QUESTION 1

A Purchase order created in ERP is downloaded to WMS Cloud. Which two statements are correct related to the
Purchase order update? (Choose two.)

A. UPDATE is sent in the Header and CREATE in the Detail for an existing Purchase Order line. The application will
add up the corresponding "Order Quantity".

B. The Purchase order header can be updated by sending an UPDATE action code when the status is in Created and
Received.

C. Purchase order can be re-created by sending the RE-CREATE action code when the status is In-Receiving.

D. UPDATE is sent both in the Header and Detail for an existing line. The application will just update the record at
Detalils.

E. The RE-CREATE action code if sent for an existing PO, the same PO will be deleted and re-created with the new
details.

Correct Answer: BD

QUESTION 2

During which of the following three scenarios does the WMS validate or throw an error message during picking with a
serial number tracking execution? (Choose three.)

A. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is present for a
different facility.

B. When the scanned serial number is present in the scanned IB LPN or active location and also exists for another item
in stock in the current facility.

C. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is currently
linked to another Inventory Record for the facility.

D. When the scanned serial number, which is associated with an OBLPN in shipped status for a different facility, is not
found for the current facility.

E. When the same serial number, which is already present on the same Sku in a different facility, is scanned.

Correct Answer:. ABE

QUESTION 3

The above diagram shows a typical Third Party Logistics (3PL) structure. Identify the Facility, Company, and User
levels, as applicable, in sequential order (that is, the proper label for box 1 is listed 1st in sequence).
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3PL Facility Support - Sample Hierarchy

A. 1=Facility 1, 2=Company 1, 3=Company 2, 4=Super User 1, 5=Facility 2, 6=Facility 3, 7=Facility 4
B. 1=Parent 3PL, 2=Facility 1,3=Facility 2, 4=Company 1, 5=Company 2, 6=Company 3, 7=Company 1
C. 1=Company 1, 2=Parent 3PL, 3=Company 2, 4=Facility 1, 5=Facility 2, 6=Facility 3, 7=Facility 4

D. 1=Super User, 2=Parent 3PL, 3=Company 1, 4=Facility 1, 5-Facility 2, 6=Facility 3, 7=Facility 4

Correct Answer: C

QUESTION 4

Which two configurations are necessary to use a pick-to-cart functionality? (Choose two.)
A. Configure label types for cart capacity

B. Configure the Print Task setting

C. Define the OBLPN Types

D. Define the Cubing Rule

E. Add the Pick Cart Ul to the Receiving personnel\\'s menu

Correct Answer: CE

QUESTION 5

Which two data conditions on the Outbound Order will always result in unsuccessful cross-dock allocations in WMS
Cloud? (Choose two.)

A. The item on the Outbound Order does not match the item on the LPN being received.
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B. The quantity of the item on the Outbound Order is less than the quantity of the item on the LPM being received.
C. The quantity of the item on the Outbound Order is greater than the quantity of the item on the LPN being received.
D. The item on the Outbound Order is a batch tracked item.

E. The quantity of the item on the Outbound Order is exactly equal to the quantity of the item on the LPN being
received.

Correct Answer: AB
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